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STEP
1 Being 2 Finishing 3 watching
4 Drinking 5 Reading
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1 Being very hungry 2 Being sick
3 Going upstairs 4 Hearing about the accident
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1 yelling 2 being 3 flying
4 starting 5 being

STEP2

1 The girl being so cute

2 It snowing heavily

3 The sky becoming darker

4 The sun setting

5 Everyone enjoying the game

sTEP3 @

+ LRUOIUY| W20l L= Lot2{7EX| UL

STEP
1 22| Lot WA A21E &
i
2 ZMNEJ ERE Il 2EI ERLCE
E
=

27| W20l L= gez S0

3 H2|7H=2 HiEhol H2lH L iS4 WAl S22ich

4 disto| U3 20l AlEE7| 20 2= 22 A=S
oHEIC

5 Fol7| M2o| 1 fHM=2 2= UL

STEP2

1 1 Alds i HHA7| 2o L= L2t H0|Est 1B
2Jairt
=0| Aot Lii7| W20 2= 22 oS FAIMCH
5h=0| O OIF/IXIXt 2= 22 FiCh

sii7F 2 =0l R2l= Hez SURCL
RE7H O AYE E7IHE= LE 2ol
SHK| e=Ct

a b ODN

o
qu
Q'E
rr
N
o

36

O ~e= Hostddre| ojol=

STEP3
O BATEL| Foet =1

§ 49| 017 LXISHA| B40F BARLE
ol FOE HAGH =

HEANTELE HIZH0|= accepting

0] gt
DROZ MO|= BEAIRE O =22 9%
STEP

1 Considering 2 Briefly speaking 3 Compared
4 Frankly speaking 5 Speaking of

STEP2

1 Strictly speaking 2 Judging from
3 Generally speaking 4 Considering
5 Speaking of

STEP3 ®

STEP
1 7142 123{slH, 1 MH|AE E/ULE
Z2Het3| = CH2 TA|Z O|AL7IOF St

STEP'3
Judging from2| HEHZ #2LC},

(0o with + (CH) AL+ 2AL O 28 99%

STEP

1 turned 2 pouring 3 closed
4 blowing 5 folded

STEP2

with his mouth open

with her baby sitting on the floor
with the light turned on

with her wife washing the dishes
with tears running down my face

A b ON =

STEP3 @




- Lt Jl7} ofatel 3 a2 elm Ut -~ olct -
‘L =2 22 x= 208 =1 U, O ~em WEBIZIHE BAREO Bg E#Yl Judgng R
i 0] T & M2 Yslel of Ert fromg #ct 2

(Words I RS E=tl 3

STEP

1 Lt= BICIRE 7 MZ AFRIE Sich

2 JH= 2EEX M 22 527 § M2 HHXIE st
QUL

3 L= 20| B2l Mz SR 4 glth

@ =0l LM L= MS7|1E EUCL

@ L= W oSS 7Itt2IBM 7ol M UACH

@ 4= a4el &= ESHM oliZ2= WHZIC
@ F=27t 7| W20l L= 1 FEE Hs 4 gltt
©® =& Hofl X[oR7] W20 2 ti2l= mf AL

STEP2 O EAFZ0lM beingO|Lt having been22 AlX5t= Z
1 2 X1 QT 19| e HE{KUAC P A=k = UL
— T o2 Ha| fH X} QUSiCt quite I information H&
2 T4 EHE Q2|2 0HEQLT, Tl ol Highf o
of Qict 3
— Jl4= T140] OF7|Z HiChof Of3l X EWst QalE o - @ YEOR =W e L RS £ 4 Ut
soict @ 2|7t & =lofMq 1 23l= WAL}
3 R HEUS "oz LIk, 22 HXY AUCt @ M7t =LA L= SIEE EUCt
— 28l 22 7 1 HES Hoy Ut @ 19| US 0| R0 1= ARIE CH
4 Randy= #Z oi7 QIQiT, 19| Offs MK 541  © B2 20| SOIM Lt 71| &t FH2 opaict
e O 07t heolZ 5591 ZL022 BARRORZ & 1),
— 19| OHLY7H MAXIZ 6t U= A2 Randy= HS @ LALRE FOIE MEFST FinishingQ 2 2£Cf. 2 122
o QCt As[Because, Since] he finished ~. 0|C},
5 Li= A2 ot =20| Y20 S3CH - A dish 22| sleepy Z2
— LI 20| Lf 220 B2 3 A2 W 5
4
STEP3 o @ AZ B I, Lis 2E8t2 Al=rt
SHLIO] 27 =Lt= Shaget OISk @ HI7t Y20l 275D, Q2= ST
O "with+ A A, TEOZ BAlel ARl BAN 58§ ax 1oy 14 oms 2e Zo0[0)
OI=2 HREAE 20t @ 2OIBS LUK, Li= ASES 3t
® XIS0| ALY HE0], Li= XTHIAIS 22 Zict,
O @9 Y= Zl B22 When | take a walk,0llAf F0{7} |
0| S=0|B2 EAMRRECRZ 1E! 0, BEARF THE
K MF A Eu © = 00m ’gléférjj T;kiniggiis 71|E oar;q_ b ERE

[TrA toothache X|E straight 22 breath &, 55

1@ 026 03@ 0O 0650 066
7@ 8® 9@ 1M0Q@ MO® 126G

13 Not having slept well - 05
14 with his hand holding - L= iR 2RE0= E76t, 277t it
15 Spoken, Speaking O TR FOIE MBI SAj0f -ingS 20{ ZAIRES
16 Receiving not, Not receiving 2 oh=r}
1 . 06
@ 49| RgeZ motstr|, dld= ARSI EY A @ 3= Axtof 9ot YOBA 19| BalE 0T YUULH

pal= =1

oHd

0

ta 37

o
nz



@ J= X7t e7] 2of, HAE Etof SH

® J= stwol| =US0= 7ot EELZe = HIULL

@ =2 Ot :

® 2 &0l AKXl ZollM L= 7{ulE st T otaiCh

p EAIES| EH2 2AF Yol notO|Lt neverE Moft=
2 ®9] Getting not2 Not getting0| =|0{0F ST},

7@ nod 1=0|Ct

7
JldE Jue| ol 20| S2= A HA FFREO| A UL,
O Twith+(CHBAH2ALL| RO, BARL 2AfRt] 27
7t SS0|22 SHZALE 2Lt
[FFA stop BFZE roll S2Ct

8
Holl ZAof cHsh ojof7|E §7| WEol, 2= OCIZ ZX|
ZAYILC,
O ZEat7] Hoil ojop7|gt 20| HA dojitenz Az =
MTEQ! Thaving + T HEAL, SHEHZ 2Lt

(TR discuss O|0F7[3tCH =2l5iCt

=
fo
o
sH
0jo
=
o
Mo
4
on
£l
r
i
=

0

g
32

O 0| 202 LiERYE BARROR HaAlet F0i8 4

1"

e
f
1A
ol
I'”EI
o
x
i
rir
i
i
o
o
S
Rl
52

®©
I
o
10
-
=)
i
o
2'_'
2
1
i
rir
=
40
or rr
>
Q'I_I
inl

O ‘~2 HlwstH | oI|E HEXNOE Mol EAFEE2
&
compared with[to] 0|22 Comparing withe
Compared with7t E£|0{0F S},

[EEA skillful s=8t &3 E appearance 2|2
12

27, aZ2 = gH|o|ct
O Shortly= Briefly speaking(ZHzts| LeHAM)SZ HHY &

38

G
OEELHC @ Yoz Ll
@ &3] LA @ ~2 T3t
® 2HEHS| A

waste 2|

13
dEe= &2 2 X 7] g2, A2 Fotka AACt
O EAFE2 FH2 2AL 20l notO|Lt nevers 2Lk,

14

O "with+(CH)BAHEALE “~7t --8F R O] ojn2 AR
AL A7t 530122 AMZALE Lt

TR hold ECt

15

ofZ2 2rt
16
Ju9| et 2ix| 2347| mRof, Lie Il ChAl M3t
£ 3ict

O BATEL £H2 2AL 20l notO|Lt neverE 2L

O 22 102%

10 20Q 3@ 4® 5@ 6@
70 8@ 96 100 MO® 120
13 It being windy
14 Not doing my best
15 Speaking frankly, Frankly speaking
16 covering, covered

YoM SottE W, L= dZ 7L HINU=E AE LA
O giZtoll= AlZh ME LIEth= 2A20] 2
HotE2 HEHA when0| Y2HE FL20(2t0 & 4 QUL

[TITA refrigerator WX empty & ¢l

L/

2



@ W 7tE3 A1 JX| 27| HZol, Lhs IS0] IRk
@ EHXIE 07| W=ol, L=
©® ZHEXI0f| 25 A0 F7| R0, TR HE HRIt UL
O =MTES FE2 SATE 20l notO|Lf neverS A2
2 @2 Not living with my family7} =|0{0F BtCt,
talented X5 U= beginner ZEX}
revise 85It

Lizt £ olch

22 28 30, Lr TS U A T,
8 RLOMN, LH= 1 MEZ 4 4 gt

O F0= 10|12 SS0I22 S5FS MX| GOtoF eirt. e
M @2] Drawn2 Drawing@ 2 T X0} &t
(TITA vegetarian XHAIZFO|Xt

4
O BARRO Folot FHe| Foj7t ZX| 408 2AIRR
Foi2 w2 BARC

5
=22 =0] g7 Wi, JE= 1o 22HE gt M=
2 & £ SUACH
O =MTES 012k F22| F071 2] 2B 2ATE0
FOE W2 EAISICE
6
= F=0lM Efoist7| mEol, S=E & 4= §ich
O As he was born in English, ~. 285 EAFEC2 bt
A=

T NOE FAFES| AXIZH FH| ANMECH 2MT, 5
o| ojo|o|2 2 &tz £E8 EAFE "Having been+1tA
EALE £LF,

[ZIZA be born in ~0i|A] EJO{LIC}
7

L= oAl 22 74 2 Zo| St
p rwith+(LH)E';Ukr+I)kh: ‘~7} -5t HZ2| o|nfo|Ct,

UAN7| WZol, IH4= L 0I5 S LRI 2

St
O BATREO| BE2 BARE ol YURain, 0f7|M ot
AIEO] o%% D= AEECH YM7| I 22 At

9
L= 215017 HEo 8 2288 L7Ich
o 2zl 2&2 As[because] | am an only child, ~.0|22
SAPEHOIL BAFR0] S0{ZE 4= UCh EFH 2AFES
X2 2ol ot7| floll HEAME ATV oict 2=
EARE2Q!l ALEMH "Having + I HEAL 7} 2lof stE2

10

ol 22 EA4X7| 2o, L= W TY0|E SH2tof it

§ 22 2Xk2 Since | was left home alone, ~. 0|22 %=
S9| on|E Z= BAFES Tbeing+IHEALS M1,

O|mf being2 ‘d2fet o~ QICh £S5 2AHIES| X2 2
5| 5t7| el HSAE HHAFV | it &E 5
AT20[2HH THaving been+ I HEALE MOF 5t2
Q2 YNX| Lt

HU HI o=

1

@ Hi7t SRS =7+ota, d= o HAUCH

@ 3 240 =2t J= AR

@ = 19| Ci2|E & & Lf HE S

@ Lt= g=20l|l ==0| S2 i SO

® J2l= Aol s=eiM I Btet J2l= A2 HiRich

oo fwith+ (CH)HAH+2AL 222 FHAIRL 2Ate] 27|
7t £+S0|22 17EAl crossedZ £LCt

12

@ =0 0| 27| 2o, 2= A7IE EfH LT

@ 7t OBRE0l= =751, J= 12 MRAE AR
@ 7t AAL Z=HIE Bt 2l= M4S AT

o
=3
o
=3

o, &
@ Lt= CHE Zoil o|Atet =of, Wi TS :
® 1 L=¢E 20 Hoil ARAZ0l= =75t HHS| 7|7t

QUCH

A .

O FHo| Fojet Ct2@ FojS M2SHR| 94T 02 A
5iC}.

r

invite ZCH3ICH popular 2171 Q=

13
EM7tHIE0| SC2t: OS2 HAIGH] 2 Ao|ct

g

==

39

ol
=
1z

~O

o
c
o
)
0
L)
—




O BATZLRE TS I F&HAh= Mafstn FHO| Fojet
&

CHEM F01E MafolX| ¢ = &0t
windy HIZO0| 2=

14

O & AT0Z Mof o=z As[Because, Since] | didn’t do
my best, ~.Ql 2 &AL FOE Meist BAHE
OF OHEC} EAFRO| HX2 EAL 9t notO|L} never
E _|:|.

[T do one’s best M ClsiCt

S2|5| ZaliM, 2= W FSH0| ot ct,

£XI5| LM'= frankly speakingO|2t= H2HESIS &

16

Kevin 19| A2 o=z g

o Twith + (CH)EALH+ 2AH, 12
50|22 WHEAS 20t

_l_l
o rlo
3{:I
1]
|0
HU

40

Lesson 07 J?_"ﬁl*l‘

7 TACHHEA O 22 106%

STEP
1 who 2 that 3 which 4 which 5 that

STEP2

1 | have a dog which[that] is a Chihuahua.

2 Do you know the tall man who[that] is famous
in this town?

3 | have a girlfriend who[that] lives in Dallas.

4 This is an expensive restaurant which[that]
serves many kinds of rare dishes.

STEP3 @, ®

STEP]

1 L= 37t =2AE 2= KXIE ERULE
2 Oz oo 2ot B2 MES =t

3 0|2 StU= Alo|=0|Ct

4 AFE|D Qe O S22 otEEC

5 waista Q= 1 HXk= Lol omtto|Ct
STEP2

1 L= 742 JHEct 222 xieketolct,
— W7t 7121 M xlefetolc,
2 U= A 7| 29X ol? Ik o 02
— U= 0| OFZ0IM R X 7| 2 HXIZ ORLI?
3 L= Ofxt E1T7} Ik s ajAof At
— Li= gaf A0 Aks Ofx} 2177+ QUct,
4 OIRS HIW Algolct QRS B FRO| T 22
0| Lt2Ct,

— 0|2 B2 SR Tl7fet 2|S0| LU= v AFo|Ct,

oM = &SIt

muin

STEP3

< L= B2
« Js L20IA ST
O MSHALZE AFZO0|HA
HAF whichL} that2



P '—fi LtO| OFHX|7} AR ADEZS SJOIHRCE N
: ASZ TAHH 22078 _ =
Paint 058 EIREA © D Jane2 Ut 1ol E 2188 Fofsict S
o
n
STEP 1|_ H - | o STEP 1 §
L o] (H=AHp| & Ol AHS ObLtr] .
1 e 18] OIS 0] RV 7R AEE B L or s olot=ol o171 it
2 4= otttz F AFoIM Ysk= ZIF7t QUCE _
2 Lto] L7t BEE0IFA T H|Xf= HUUCE
3 0|742 Z0lo| L EI729! JHCh, -
4 Li= Fo|7} B AX0l 02 Z=0f6iC} 3 = W7t #10 Ao st E7IE 7HAICEH
5 Il AHZIO| BIAHO| JjES Tk QICt 4 Lh= 4|7h 2 2RsHE Wl 0l HUE 2HgCt
5 O= L7t HoflA| 230 FXto|ct
STEP2
1 | met my friend whose arm was broken last STEP2
night. 1 0|Z2 W7t 7K Eotek= 7HEEARRIOIC
2 She bought a doll whose hair was bright blond. © 2 0| ERivt |-H7f SO 2t EXto|Ct,
3 Look at that gleaming tower whose top is 3 Li= 20| dst= AlEE =otsict,
rotating. 4 LiE Yt otdeetn Uit 252 At
4 We are looking for a bird whose body is very :
colorful. . STEP3
@ L= odote] NS0 712 Zkn Urt,
STE@ © @ Ol HxH= L7t BRIOIA BE HxfolCt,
- @ 3= oMl HojtfR 19| EAE ARUACL
« Jd= BX|JF L2 Mol s Mo . @ 372 Y7t 3 Fo| =28 Amo|c,
STEPD . ® 0|H2 L7} ZH[5tm QU= wHOICH
p O2 =24 ZAHEA|ZZ2 Matsh = gl LIHX =

1 L= ostigtoll Zol &
JHE M7t 32 52 AUYSE ML
H

, = BAFE Lol 2340] o
3 Brj7Pot SEsHs A WLis EFS Bolat,
4 245

AR AEFst & QlC}

mE’ﬂ
mjo
9'£
rr
1o
12
N
e
N
=

22l= S0| 0 &2 ME & UCt
STEP3
HMO| 04 0|T22 HIE {0ilA Z=alshzt. z
p MBHAIZE AF20|T1 HIZHO| Sjofls TAPF LT Qlo. . AN F2 AAMHHALE thatS M= F O 22 109%
2, AR BAHAF whose7t LTt STEPA
1 that 2 that 3 that 4 that 5 that
Point 059 =Xkl w0\ O 22 108%
: STEP2
STEP{ 1 You are the only person that | want to employ.
1 which 2 that 3 which 4 whom 5 that 2 The book has a lot of information that is really
useful for children.
STEP2 3 | want to buy something that | can wear at the
1 This is the family picture which[that] I like the office.
most. 4 This is the same hat that my sister wants to buy.
2 This is the man who(m) | met at the airport. ﬁ
3 | like the people whom[that] | work with. sTEP3 Q@
4 | forgot the clothes which[that] you told me to 3
bring - U7+ J3Hx| 23t 20| LI
ster@ @ 2NN HT U= AR} IHE &t
|- Ul Qs RS otoict,

0x
i)
o
ol
el
x
N
—



STEP
1 LIE StLtA| §t A Hy
= |

2
2 O 7L A 7HE H| EEX|O]CY,
3 S0 WHE T AETE T s ARERICH
4 L7t HE 2leh & = U= Ao QUL?
5 W7t e 4 UUE BE A2 25 XF{E= AOIUCH
STEP2
1 Uz W7 18stn o2 Fst AFo|CtH
2 1 M2 olo|S0lA MLUR FEc H2 FEE #41 rt

Al

IT

g
3 AR QoI YS 4 2

At

4 ojze L

STEP3

= OMPA L7t 2 7+

.O "the+ XM,
0| M&sict,

Yzl Aol

SEf7} MIALR Qoo 2 BACHHA} that

IR ZHACHHAF what O =22 110%
STEPA
1 What 2 what 3 that 4 what 5 What
STEP2
1 What made her happy 2 what is yours
3 what matters 4 What | am saying
5 What surprised me
STEP3 @
- Lz 22| 2zl st AS MLt
STEP
1 27 AM=3HE RE HOo| ot AH|O|EO0|LC,
2 J1E F|Mo| HH2 71 KIQHREE Zolct,
3 Lk= 3=0]| olop7|st =HIofl thsH 7|ALEX| Si=C
4 Uz U7t Lot AS LA ELZ0{0F St
5 LIE &£Z7 otz A2 LIE S2M A=olct,
STEP3
@ = L7t A2 LIRE HIUCH
@ U7t ZHest A2 LAl e 4 AL?
@ Ltz 0] WX|E £ A{E <trt
@ | MlES WA W7t ojed HE2 TP
® oC|&2 22(2] 42 H2lsh siFs B NS LIt

E

2IZF foll= MABAZF g, ~Zd0[2t1 BiA

2 ZACHBAL whatO| S01717(0f] LSECH,

O @9 23

Z|0{of Bt=.

(A IsYA 2ASA when, where O =22 Mz

STEP
1 when 2 where 3 when 4 where 5 where

STEP2

1 This is the town where Jane lives.

2 | visited the place where the writer stayed.

3 May is the month when many festivals are held.

4 | don’t know the time when the meeting will
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13 such an attractive woman[lady] that
14 The question is whether he stole money or
not. [The question is whether or not he stole
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15 was so boring that | walked out in the middle
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1a 2 well 3 a 4 so 5 as

STEP2

1 as cheap as 2 as many books as

3 not as[so] tall as 4 not as[so] young as
5 as early as
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sTEP{
1 than 2 much 3 very
4 than 5 more popular

STEP2

1 Dolphins are much cleverer than dogs.

2 Walking is healthier than taking a car.

3 James can speak English more fluently than
Rachel.

4 Science is less difficult than math.
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1 the oldest 2 the most expensive
3 the bravest 4 the fattest
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STEP

1 colder 2 The closer 3 higher
4 wiser 5 more and more famous

STEP2
1 bigger and bigger 2 hotter, more
3 older, smarter 4 worse and worse
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STEP

1as 2 popular 3 easy 4 no 5 Nothing

STEP2

1 No other boy that | know is as handsome as
Tom.

2 Nothing is as important as love.
3 No one in my family is as diligent as Jake.
4 No substance is as hard as a diamond.
5 No other Baduk player in Korea is as young as
Ondol.
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STEP

1 werent 2 cant 3 will 4 were 5 could

STEP2

1 If | had an extra battery, | could use my cell
phone.

2 If I were not sick, | could go for a bike ride
with you.

3 If she were not in the middle of a meeting,
she could call me.

4 If Jason kept his word, | could trust him.

5 If Jina had enough time, she could cook dinner
for us.
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1 had had 2 could have won 3 had invited
4 have fitted[have fit] 5 had turned
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1 had worn, would not have been

2 had joined, would have been

3 had read, could have answered

4 had known, would not have wasted
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1 had gone 2 have met 3 be

4 had 5 would have

STEP2

1 If Nick had not wasted his money, he could
travel with me this month.

2 If she had obeyed the traffic light, she would
not have been hurt in a car accident.

3 If my little son had not broken the vase, |
would have it now.

4 If she had not missed the airplane, she would
be in Rome now.
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1 Were | richer

2 Had my dad had more time
3 Had I slept less

4 Were Mary more diligent

5 Had | accepted his proposal
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had not lost my passport

could make good friends

had won the basketball game
could get the idol star’s autograph
had got[gotten] good grades
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STEP2

1 is shy on the stage

2 knew the correct answer

3 were going well

4 couldn’t understand his words
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1 she had lived in New York

2 he had gone to the amusement park with me
3 he had found a hidden treasure

4 she had not slept enough last night
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STEP
1 For — But for[Without]

2 With — Without[But for]

3 can — could

4 Were it for — Were it not for
5 is — were

STEP2

1 Without airplanes, our journey would take
2 Were it not for the sun

3 But for this book, | would not know

4 If it were not for smartphones

sTEP3 @

- THRet 3717} GiCHH ARMSE2 dZet &S AR & ZAo|ct.

STEPA

1 o] ==20] gictH Lhe &

2 20| gictH X7l 2E éﬁmﬂé =2 Aojct,

3 E27t HalX| t=riH 22|= =X| 47 eoldo| =&
A o|9 7-|0||:|.

4 =|0| giCHH AIEEE REM

rig 2

SEfO| A Aok Zdo|ct,

et

Mg Ystd 65

al

o
=
c
o
0
0
o
-



5 LiH[A[0|M0| QICHH L= 8 dferg o 4~ gl2 ZAo|ct
STEP3
30| gICtH R2|=2| 52 3301 ot Zolct,

O ‘~0| gicterolats £2 2=
[ 4

BHOZE= But for ~ /
Without ~ / If it were not for ~ / Were it not for ~7}
P

(TR0l Without[But for]~ + 715 1l7igta O 22 1655

STEP

1 But for

3 If it were not for

5 If it had not been for

2 Without
4 Had it not been for
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1 But for your help 2 If it were not for
3 If it had not been for 4 have taken
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13 had gone to Anna’s party
14 had joined the basketball team
15 knew him
16 Had it not been for this camera, | could not
have taken good pictures.
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13 If | did my homework right after school
14 If | fixed a time limit for games
15 But for art, human life would be meaningless.
16 | had been with you (at the market)
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STEP

1 smells — smell 2 do finished — did finish
3 do likes — does like 4 heard do — did hear
5 does — did

STEP2

1 does hate 2 did spend 3 did believe
4 dowant 5 did go
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where — when([that]

It was he that he taught — It was he that taught
who — which[that]

which — that

| invited her — | invited
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STEP2

1 basketball that[which] | want to play with my
friends

70

2 at the party that[where] she first met Romeo

3 my uncle that[who] told me the tragic news
4 tomorrow that[when] they have to prepare the
show
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2 was
5 has never seen

1 seldom scolds
4 has

3 hardly ate
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1 Few 2 little 3 hardly 4 never 5 seldom
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STEP2

1 Not all vegetables are good for your health.
2 She can’t always win first place.

3 Not both of you will get the chance.

4 Not every child has a dream for the future.
5 Ann doesn’t always eat breakfast.
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STEP2

2 No one cares
4 don’t know anything

1 Neither of us went
3 None of them wear
5 He never wastes
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STEPA

1 my little cat sat — sat my little cat

2 many birds were — were many birds
3 stood she — she stood

4 is—are 5 were — was

STEP2

1 On the shelf was a brand-new shirt.

2 On the desk are some books.

3 On the river bank he is.

4 In front of the gate sat the old man.

5 Around the pond ran a dog again and again.
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2 do | have — have |
3 they played — did they play

4 do | thought — did I think

5 she visited — did she visit

1 1 will — will |
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1 have | been 2 will they agree
3 ishe 4 did | understand
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1 neither - so 2 | did — did |
4 do—did 5 does— can

3 do — does
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1 Neither is the teacher 2 Neither have |
3 Soam| 4 So did |
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STEP

1 | washed my dog, and James washed his dog.
Two hands are better than one hand.

You can leave now if you want to leave.

Mom went for a walk, but Dad didn’t go for a
walk.

5 My room is smaller than my brother’s room.
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STEP2

1 Kate drives faster than Jenny drives.

2 He picked up a book and he read it carefully.
3 Paul can play tennis, but | can’t play tennis.
4 A stitch in time saves nine stitches.

5 Just do as | told you to do.
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STEP

1 When | am busy, | often go home at midnight.

2 While you are in the library, you should be quiet.

3 The dough will expand when it is heated.

4 Though she was hurt in her arm, she never
gave up.

5 Jake heard the cell phone ring while he was
taking a shower.

STEP2

1 Though very tired, | couldn’t sleep well.

2 When hungry, my dog barks at me loudly.

3 When in LA, | went to the Dodger Stadium.

4 When released from the cage, the bird flew
away.

5 While driving, you should fasten your seat belt.
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13 Neither did I 14 So did |
15 a tree stood, stood a tree
16 was Paul’'s mom that gave us some food
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STEP

1 are 2 was 3 are 4 live 5 were

STEP2

1 are 2 are 3 is 4 are 5 want
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STEP

1 have 2 are 3 wants 4 are 5 was

STEP2

1 Either you or he has to drive a car.

2 Not Andy but his parents are surprised to hear
the news.

3 His sisters as well as Jake want to keep a dog.
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1 asked, who had joined her club

2 asked, what time she wanted

3 asked, what my home address was
4 asked, who the man with a ball was
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13 Neither Jordan nor Alex is able to play the
guitar.
14 Not only Jordan but also Alex goes to school
by bus.
15 not to cross the street
16 where she could put her bags
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Lesson 13 doesn’t have to
01 14 used to |
15 have <=|
1 has been 2 been 16 would rather not ;;J
3 have been 4 had been 17 doesn't have to =)
5 haven’t talked. 6 (had) lived 18 may have left Dml-
7 will have repaired 8 Have you, used. 19 should have studied =
9 has, turned 10 he?s been srTowmg 20 had better brush
1" h'afi already started 12 WI|‘| have rained 21 should have been
13 visited 14 written 22 had better not clean
15 had taught 16 will have seen

23 can’t have made such a mistake

17 Has he cleaned his room?
24 may as well go home

18 Lisa hasn't found her smartphone. 25 should do his homework by tomorrow
19 He had been unhealthy before he started to exercise.

20 James had been watching TV before | called him.

21 has just left the station

22 long have you been in Pohang

23 We will have cleaned our room

24 have already had dinner with my brother

25 had already taken off when she arrived Lesson
1 to play 2 to
3 for 4 disappear
5 was seen dancing 6 was filled with
7 been published 8 can be eaten
Les;on 9 appeared 10 is served
02 11 is being destroyed 12 been arrested

13 present — be presented

1 L= Agg Z 4 glch 14 that — to

2 U= Aol 23 2-ALIE S oF FC. 15 by — of by

3 OoAlEhol| =0 S0l SIS 16 about — at

4 22|z xf2tz| ol a1 ACh 17 wear — to wear

5 He ChAl= =X ¢= 7l &C 18 is said to be a famous actor

6 may as well have 19 were given to me by my grandfather
7 must be hungry 20 | was made to sign the paper.

8 should not have eaten 21 The baby was heard crying at night by her.
9 would rather make 22 were bought for me
10 cannot[can’t] 23 It is thought that
11 had better not 24 is called a genius
12 should have 25 must be learned by
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Lesson Lesson

04 06

1 looking 2 to miss 1 Speaking 2 (Being) Frustrated
3 not to lose 4 for you 3 closed 4 Traveling
5 to be repaired 6 So to speak 5 Generally speaking 6 Considering
7 to have been written 8 lie (down) and relax 7 Judging from 8 Frankly speaking
9 to pay 10 stand[standing] 9 Strictly speaking
11 to say 12 to save 10 As[Since, Because] it was hot
13 for — of 14 Begin — To begin 11 If you cross the road
15 write — write with 16 being — to be 12 Because[As, Since] | didn’t hear the siren
17 to have stolen something at the store 13 Though[Although] he wasn’t awarded
18 to be seen in the dark street 14 X
19 to buy for her birthday 15 spoken — speaking
20 for her to skip breakfast 16 X
21 nothing to eat in the refrigerator 17 Comparing — Compared
22 to have been a poet when young 18 Coming back home
23 to be taken care of by her parents 19 Arriving at the library
24 see the wave coming toward them 20 It getting dark
25 it interesting to learn about other cultures 21 Not knowing his number
22 Judging from his accent
23 with her legs crossed
24 Being written in German
25 Not knowing how to cook
Les;on
1 playing 2 making 07
3 to going 4 climbing
5 feel like going 6 is worth discussing 1 which[that]
7 going shopping 8 your[you] practicing 2 which 22F IE= which 0] was &)
9 good at drawing 10 working 3 in K| EE= where — which
11 meeting 12 to bring[take] 4 why 5 wherever
13 my[me] staying 14 hike — hiking 6 whatever 7 where
15 to meet — meeting 16 bring — bringing 8 when 9 No matter which
17 treating — treated 10 anything that 11 at any time when
18 On[Upon] hearing the news, she began to cry. 12 in which 13 which[that]
19 It is no use worrying about it. 14 which 15 which
20 Keeping the promise is important. 16 that
21 | am sure of his[him] being honest. 17 We moved here in 2001, when our son was born.
22 Sleeping late at night is bad for 18 There is a park where[in which] some concerts are held
23 forget shaking hands with him on Sunday.
24 busy looking for the lost wallet 19 The Persian cat whose eyes are big looks cute.
25 for not answering your question 20 There is a store which[that] sells fresh fruits.
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21 She is a singer whom([that] everyone knows.
22 No matter how cold it is

23 The bag which you bought

24 where she took a picture

25 the rule that they said

Lesson

08
1 but 2 when
3 nor 4 such
5 or 6 until[till]
7 that 8 As soon as
9 Unless 10 too, to
11 as well as 12 so that

13 not Rome — not in Rome

14 because of — because

15 although — before

16 such big problem — such a big problem

17 don’t speak a word while you are having a meal

18 listened to my opinion though he was angry with me

19 decided whether you will go to graduate school or get
a job

20 went not to the park but to the library

21 kept crying until her mother hugged her

22 both huge and beautiful

23 so that he could

24 too difficult, to read

25 as well as the students

Lesson
1 much 2 simple
3 more popular 4 can
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the most popular sport
as slowly as possible

one of the richest people
metal is more useful
older than 10 The more, the faster

cuter, other boy 12 most precious

more 14 as

the most 16 players
many 18 wise
better 20 sour

most impressive

Eat the dish as soon as possible
one of the coziest hotels

faster and faster

10 times as large as

Lesson

10

Had we looked 2 Were it not for

had already forgotten 4 could wear
had, could pay

she knew the password to get into the file
| were brave enough to ask him more questions
had left, could have entered

it were not for your hard work

it had not been for his help

it not for the traffic jam

it not been for his coaching

14 were sick

16 had seen

| had learned these skills when younger

knew
had not eaten

he had been a boss of a store

If it were not for her advice

Had we won the game against the Saints

she were not guilty

it were not for dance

| were a professional baseball player

| had told my mom the truth last night[l had told the
truth to my mom last night]

he had exercised more when young
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Lesson

1

It is travel that makes me feel relaxed.

It was they that stopped playing smartphone games.
It is her room that she has to clean right now.

| did enjoy the party at your home.

Though poor, | was always satisfied with my life.

To some life is pleasure, to others suffering.

| told him not to open the box, but he wanted to.
Mom bought a nice dishes and Dad a pretty cup.
did | visit

can we see

10 was a ring

12 came the rain

14 neither does my son
16 it flew

will | pay

Never did | think

not AMY| £ seldom AHK|
While she was walking, she met an old friend of hers.
Though he is old, he has a lot of energy and strength.
| didn’t like to drive a car, but | had to drive a car.

I will come back in two days or three days.

None of them 23 not always

ran many players 25 so did
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Lesson

2X|et 2ty

12

is 2 is

are 4 is

is 6 get
broke 8 comes

Every student at my school walks
Most of my expensive books were
Both Bill and his brother are

Some of these toys are

could 14 would go
is 16 finished
not to speak

if | could recognize

why she bought that

if she might use my

not to speak

The bottle is

Take this medicine

Don’t cross

| have seen



